1) Show that:
2 1 , 12

: B 1
() tan™1 il tan— = (i1) 2 tan™! 5 tan-

1 4
3

(i17) 2 sin™! —L;i = tan~! P

-1 3a’x — 3 1% a a

(1v) tan” =3tan™ =, —-— <x<—
a® — 3ax? a J3 J3
2> Show that:

(z) 2 tan—1 E — tan™1 E = E
4 31 4
1 . 4 31
(ii) 2 tan™! l + tan~! —=sIn 1_°-
2 25v2

,a>0.

-3

1 2
see _1 - + tan_l =
(z17) tan 1 5

3> Show that:

(i) tan™! % + 2 tan™!

[
5 w0l

.'.

(i) 2 sin™! % — tan™!

p—d

1
(ii1) 2 tan™! = + tan™!

Wl | o
g |

(iv) sin™! % + 2 tan™!

Scanned with CamScanner



4} Solve the equations:
@) tan! \/3 + cotlx = W2

X X T
(i) tan™! = + tan! —=— O<x<J§

2 3 4’
192x +tan13 = O<x< 1
N . - Y < ——
(ii1) tan™' 2x + tan™ 3x L JE
(v) tan~! (x + 2) + tan™! (x — 2) = tan™! 79 X > 0.
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g) Show that:

_ 43 1
(1) tan~1 ¢ + tan™! 5 = tan—! 3t tz 20 = 0
1-¢ 1-3t 3 '
N m-n
(i1) tan! m_ tan-! .
n m+n 4

GiDtanln +cot ! (n+1)=tan! (n2+n+ 1)

=~ _tan’! 11 *sml
1+x \/1-rx2\[1+y

6> Show that: tan™* (é tan 2Aj +tan™! (cot A) + tan~! (cot® A) = 0, Z <A< 5

(iv) tan~!

1 2abd 1 2x 1 20
| C 1 Yy 1 o
-;,> Show that: tan™ —;—g +ian™ g g =tan” —5 o,

where o = ax — by and B = ay + bx.
Iftanlx + tan~!y + tan~'z = 7, show that x + y + z = xy=.
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q> Show that:

1
. -1 _2_ -1 —7— = tan_l .
(1) tan T + tan o 2

| 11 -1 1 _ ——1_?_
(ii)tan1—7—+tan —1—-—13311 9

41

1 11
-1 — 4+t — =
5+an 3

— + tan
2

T
(i) tan 4

3n
(jv) tan~1 2 + tan™! 3 = e

Wtanll+tan12+tan"13=mn

a1, 41 1 1

(vi) tan +tan  —+tan  —+ tan™ —-81— =

ki
4

(viZ) cot1 7 + cot~! 8 + cot~! 18 = cot-1 3.‘
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